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(Time: 3 Hours) | Tc}tal Marks 80
NB: - 1.Question No.1 is compulsory ﬁ S RN

2. Solve any three questions from remaining five = . 0 o
3. Assume suitable data wherever necessary B SR el o St e
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1 Answer the following questions: O R TG e B e S N
» L S, R v "_ﬁ_ e T R . MG, % X R e AT . e i -
ST gy, W e T s Do AT I % Y
i T Wy e z g ARl e e ¥ . 2
for B e ol ey : o Rk ™ T o T i
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a)

length 2mm, machining allowance 0. Smm and direcu@nm of Iay para',;:;f "x; 7l

will you represent it on a drawing? 75 0 T
b) Calculate the effective diameter if: a) the.microineters

w0
T

wires as 15.26 mm and pitch of t”‘fﬁeagix 2.5
and standard cylinder 18mm. e
What are the hmltatlons ofX b_;;g;_ and R chax:ts

Q.2
10

Of tool maker S mlcr()Sc@pc c Tt :_i,;_-:;';;; Ry, ..-, & N
b) By using optical flat and monpchroxga‘f 2h ; ﬂ > 1
determine 1) wh@thar thﬂ gwen ’Stll‘f&ﬂ'_ Al

10

Q'3 % 1 PR, : ‘ ) Na magt S

;;_fff‘ ﬁear N llsurement a) Measurement
using . rollers b) gear to"'_,_‘-- ot kS O

HO_W" .‘t@"* obtambalanceb . ':j

dvalue of quality? Explain 10

Q.4 ce Tou; Q'"‘f;___ess, helghts of the successive 10 peaks (5

f;’,l, J _-:a}_;_ %s measurements ware obtamed over a len gth of IOmm
Y S SoPES A8
& S VaIueS@f Surface r()ughneSS

Ween -Qle Basm and Shaﬁ Basis system. V

10

& ':Ta’bihty study ﬁf a Iathe used in turning a shaft to a diameter of 23.75+
N _f_i’;nfm a ._s,ample of 6 consecutive pieces was taken each day for 8 days. The
o N -eters of these shafts are as given below:

2“‘1 day -;_:;,::z3lrd day 4" day | 5™ day | 6' day | 7' day | 8" day

10

Y "'w 23 77 | 23 8.  23.77 | 23.79 | 23.75 23.78 23.76 | 23.76
e 23 80 23 78 23.78 | 23.76 __L23.78 23.76 | 23.78 23.79

e ,;;5;-_g:;:-:;fjﬁ;._;;_-%z*" 2378 12376 2377 |23.79 |23.78 |23.73 | 23.75 |23.07

R PEEES 12370 [23.77 [ 2374 23.77 12376 [23.76 |23.72

=
I -

. [2376 [2381 [2380 |2382 |23.76 |23.74 | 23.81 |23.78
Lo 2875 12377 (2374 2376 [23.79 [23.78 [23.80 [23.78

= &
s _,.-!"
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Construct the appropriate control chart and find out prqt;gss C
machine.(For subgroup size of 6 ,take A2=0.48 D3"'0 4: “"nd ﬁz—-__-
b) Explain the Operating Characteristic (OC) curve w

inspection. Also show different regions in the samé??‘

: a) Explain various types of sampling plans
their respective acceptance criteria. |

b) In a factory producing spark plugs the numb‘f_

of 20 lots of 100 each ,is given below.’”'
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